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Emﬁ R11|:|DK ME
Bl 0UT1 Eo
Ti=4%W 11 200K U
ol {0 u]
CHO CH?
1-1-1
6e-2o® kR U(t)=K
U, (9 0
1 1-1-1
a b
Ui |Bl1 OUTL -A5 H1
1 | A5 S4 S7 2 A5 OUT _A9 H1
2 3 A9 OUT -B2 CH2
1.1.1.2
1-1-2
REqy Z0oE
SRS 20K
Bl OUTIL Fo
Ui=4V H1 200K
CHO
1-1-2
(9 =2o® __K _Rorire U =K(-eT)
U,(S) 1+TS R,
1 1-1-2
a Ui |B1 OUTL _A5 H1
b A5 OUT _LA9 Hi
A9 OUT _B2 CH2
1 | A5 S4 S9 S11




>0.632

T
1113
U,(S
U (S
FHERT
ElOUTI  Rq
Ti=1% ° Hl 500K
o1
CHI1
1-1-3
1-1-3
a b
1 Ui |B1 OUT1L A5 H1
LIAS S5 Sl S12 2 A5 OUT A9 H1
1 3 Bl OUT1 -B2 CH1
4 A9 OUT -B2 CH2
13 ” O
0 Ti
Ti
AV=1V
Ti 1
1114
1-1-4
B R1 500K ¢, 2 20K,

Bl OUTI  Rq
UiV © HI 500K
2 — ]

3
CHI
1-1-4
U, (S R
6= e+ ty k=Pt T1-RrC
U.(9) Tis R,

1
Uo(t)=K 1+t
o(t) T




1 1-1-4

a b
1 Ui |B1 OUT1L _A5 H1
1| A5 S5 S6 S7 2 A5 OUT _A9 Hi
3 Bl OUT1 -B2 CH1
4 A9 OUT -B2 CH2
2
0 0
Ti
Ti
AV=1V
T 1
" w Kx
1.1.1.5
1-1-5
S8 RLIOODE 57 2 100K
AT -
E1 OUTI En
TUi=0.6W Hi 200E 54 N s UD
o Z "N ~ren
1-1-5
+ G(S):@:K(1+Ts)
Ui(s) 1+1S
To =( RR, +R,)C 7=R,C K RitRs
2 RO
KDzw TD:KDXT =0.06S
R3
U, (t) =KTs(t) + K
1 1-1-5
a b

Ui | Bl OUT1 -A4 H1

1 | A4 S4 S6 S7 2 A4 OUT A8 H1

2 3 A8 OUT B2 CH2




Uo 1.1V 0.5V
0.632 AV=1.64V
AV=1.64V
=At=0.01S
Kb=6 1-1-5 T, =K, xr =0.06S
A D
Tek
1.1.1.6 PID
PID 1-1-6
s 100K Cly, 100K
T - " .
1-1-6 PID
G(S) = Yo ) =K, +&+ KeT,S
U;(S) TS
Td ( RlRZ R3)C2 ) Ti = (Rl + RZ)Cl ) KP = Rl - R2
1 2 R0
<« (R R
R,
r=R,C, T, =K,
KP
Uo(t) = KpTDé‘(t)‘f‘ KP +?t
1 1-1-6
a b
1 Ui
1| A4 S4  S6
2
AV=Kpx
Ti 1-1-12



A4 S7 A8 Uo

1.6V 0.3V=Kp*Ui 0.632
AV=0.82V
AV=0.82V
=At=0.01S
Kpb=6 1-1-6 T, =Ky >x@ =0.06S
A D
Tek
1.1.2
1-1-7 A2 A3
Ti=R1*C1=1 T=R2*C2=0.1
HRE R F2 100K
Ui=2 5V FI0g
E1 0UTL HI
o {2
CHI Ct) cHz
L i
1-1-7
G(S)=— K _ K K:&:100k
TiS(TS+1) S(0.1S+1) R R
#(5) = w; B 10K
S?+2&w,S+w? S?+10S +10K
1-1-7 i A3 R
K
1 1-1-7
a b
1 Bl OUT1 Al H1
Al S4 S8 2 Al OUT A2 H1
A2 S5 S11 S12 3 A3 OUT Al H2
A3 S8 S11 4 A3 OUT -Al10 H1
5 4K All
6 | 40K 70K A2 OUT A3 IN
7 A10 OUT B2 CH2
CH4
2

All 4K 40K 70K




K Al C(t)

1.1.3
1-1-8 A2 A3
A6 Ti=R1*C1=1 A3 T1=R3*C2=0.1
K1=R3/R2=1 A6 T2=R4*C3=0.5 K=R4/R=500K/R
Eitgzﬁtj 00K F3 100K REIK
BlOTl 1
CH } QUT CH2
[ 1
1-1-8
&(S) = K _ K
S(0.1S +1)(0.5S +1) 0.05S°% +0.6S2 +S
K K
(5)= S(0.1S +1)(0.55 +1) + K 0.055° +0.65% + 5+ K
1-1-8  All 30KQ K=16.7 41.7KQ K=12
225.2KQ  K=2.22 A6 H1 IN
1 1-1-8
a b
1 Al S4 S8
2 A2 | S5 S11 S12
3 A3 S3 S8 si1 2
4 A6 S9 S10
1 Bl OUTL Al Hi
2 Al OUT _A2 H1
3 A2 OUT _A3 H1
4 A6 OUT _A8 H1
Ab C 1 5 A8 OUT oAl H2
6 225K All
7 | 417K 30K A3 OUT A6 IN
1.2 8 A6 OUT B2 CH2
1.2.1

1-2-1
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a b
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E2 100K
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Bl OUTIHI 200E
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K=25 R=4K
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1 Bl OUT1T oAl Hi
Al S4 S8 2 Al OUT -A2 H1
A2 S5 S11 S12 3 A3 OUT -Al10 H1
A3 S8 Si11 4 All
5 4K A2 OUT A3 IN
6 A3 OUT Al H2
7 Al10 OUT - B3 ADIN
8 Al H1 -B2 CH1
2 9 Al0 OUT B2 CH2
Wr L(wr)
L 0] o,
L(w,)
) w
®
Wr L(wr)
" ’ wWr
L ¢ Im Re
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1 1-2-2
@ /4
2
@ /4
1 122
2
We
L 1) L(w)=0
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1.3.1

1 L(w) p(w)
y £ yln ,
2 %
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3 L yln ,

y Mp
1 1-3-1

HHE Rt 200K F2 300K

Ui=2 5V )

Bl QUT1 Hi

o 2
CHI
1-3-1
6
1-3-1 G(S)=
0.25(1+0.3S)

1 1-3-1

a b

Al S4 S8
A2 S4 Sl11

wC
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te



Bl OUT1L Al H1i

Al OUT -A2 H1

A2 OUT -A6 H1

A6 OUT Al H2

A6 OUT -A10 H1

Al0 OUT B2 CH2

N[O W|IN|F

Al10 OUT -B3 ADIN

3] A6 | s3 s8 sio
2
Mp= 59% tp= 0.336S ts= 185( =5 )
2
1-3-2 1-3-1
A10 OUT -B3 ADIN
200K F2_ 300K

FREiE Rit)
Bl OUTIH] 200K
O ]

1-3-2
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2
L L(w)=0 0]
L(w)=0 @, =9.28rad /s 0
@ ¢ =161°
y =180" —-161° =19°
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wc= 9.44rad/s y= 19°
3
y=19<
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@, =y—y+ =52°-19°+9°=42° Sing, =0.67
o, @) 5=10°



1ESEE R(t)
Bl OUTIHIL
o .

4o 1+sing, 1+0.67
1-sing,, 1-0.67

P
L.(¢,, ) =10lga = 10lg5 =7dB
L L(w)=-7dB 1)
L(w)=—7dB o, =14.4 radls 1-3-3
@,
S T
(
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,,,,,,,,,,,,,,,, >>\:1
:!w:14.42 radfs, L~-T.13 dB
1
14.42rad/s  -6. 5845 | NS A4 radss Aedf
1-3-3
1 1
T= = =0.031
w,Na 144x224
C=1lu R4=155K R5=38.7K
- - 3-3-7
g225¢
a
a a=5 5 A4
1-3-4
o~ M. [ T | Y =11 -4 1

o A
R4 F5 A arep g [} ES
CIBALIEE ’@38”{

1 1+0.1558 30

1-3-7 G(S)==x x
5 1+0.031S  0.25(1+0.35)

1-3-5




1 1-3-4 1-3-5

a b
1 Bl OUT1 Al H1
2 All
3 155K Al OUT Al2 H+
4 All 1lu
5 1u
6 All
5 7 38.7K Al2 H+ GND
8 Al2 OUT A4 H1L 1-3-8
9 A4 OUT A8 H1
2 10 A8 OUT A2 H1
11 A2 OUT A6 H1
L
L(w)=0
] L(w)=0
w, =14.42rad/s @
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¢ =125 y =180" —125° =55° 123
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14.42 rad/s y =180° -125° =55°
5
1-3-6 1-3-4
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R Rt e0E VCTCT - o - e
Ui=2 5Y
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L(@)

y” ;

y,”

200K

G(S

=5

)

)

p(®)

Mp

~ 10
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L o =6.29 rad/s
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~20lgh=L(w.') b=0.15
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1-3-17
1-3-9
La18 o(s)_ 1159 10
1+10.34S 0.25(1+0.1S)
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B2 Rit) i 20K B3
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| All

F4FE % A[aFERFE  FA
033hAlLE 3
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1-3-9
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1-3-12

L Rt

U=2.5V

Bl OUTIHI 200K
& o

Mp

1-3-12

G(S)=

Mp” ,
Mp
Mp
6
0.25(1+0.3S)
2 300K
[ ]

tp

te

0.25(1+0.39)

CHO QUTCH?
o {3
1-3-12
1 1-3-12
a b
1 Bl OUTI _Al H1
2 Al OUT _A2 HI1
3 A2 OUT _A6 HI1
4 A6 OUT LAl H2
5 A6 OUT _AI0 H1
6 A10 OUT _B2 CH2
Al S4 S8
A2 s4 sil
A6 S3 S8 S10
2
Mp= 59% tp= 0.336S wn=10 &=0.1667
2
Mp<25% £d >0.4 Td>0.0467
Td=0.05 Kd=1 C3=1u R4=50K R5=50K
1-3-13
G(S)=— 0 «(1+0.055)




R Ret) W0E GEE T T T T LT TREER - F2 300K
Ui=2 5V

Bl OUTLHI 200K
o — 1

1-3-13 -
1 1-3-13
a b
1 Bl OUT1 Al H1
1 Al S4 S8 2 Al OUT -A2 H1
2 A2 S4 S11 3 A2 OUT -A9 HI1
3 A6 S3 S8 S10 4 A9 OUT A7 H1
4 AT S3 S1 S10 SP 5 A7 OUT - A6 H1
6 A6 OUT - A10 H1
7 A6 OUT - Al H2
8 Al0 OUT -B2 CH2
2
1
Mp=28 % tp= 0.3S
1.34
1 4 Mp” ,
2 Mp tr
13 Mp11 ,
Mp tr
1
1-3-14
BRI B AT - . - i
208 U=2.5% ¥
y":]j[ Bl OUTIHI 100X | pAl
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S I A T o a
: 200K, . A
1-3-14
1-3-14 () 6

" 0.25(1+0.39)
A2 Ti=R1*C1=0.2S



A6 T=R2*C2=0.3S K=R2/R3=6
1 1-3-14
a b
1 Bl OUTL -Al H1
2 Al OUT -A2 H1
3 A2 OUT -A6 H1
4 A6 OUT Al H2
5 A6 OUT -Al0 H1
6 Al10 OUT -B2 CH2
Al |S4 s8
A2 | sS4 Sl
A6 |S3 S8 SI10
2
Mp=59% tp= 0.336S wWn=10 §=0.16767
1-3-14
1-3-15 A2 R7/R4
A7
K, =K+K,=R6+R5
Mp=<25%
Mp<25% €20.4
1-3-14 Ti=0.2S K =6 G,(S)
Ta
1 G,(S T, =0.052
=V, (5) .
1-3-14 T=0.3S K =6
G,(S) Ta=0.052 3-3-17 a=0.795
R7=10K R4=10K+0.795=12.6K R4 All
K=6 a=0.795 G,(S)
Ka=1.04 K=6
Ky =K =K, K,=K+K, =6+1.04=5.77
A7 R6=200K R5=200K~5.77=34.7K

R5=100K 50K=33.3K
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Bl QUTLHL
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2
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Mp=28 % tp=0.16S
1.35
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2 Mp tr



BERE Rt 200E F2? 300K
Ui=2 .5V

Bl OUTLIHI 200K
O o

1-3-16
1-3-16 A5
Ti=R1*C1=0.2S
A6 T=R2*C2=0.3S K=R2/R3=6
G(S) = 6 _ 100
0.25(1+0.3S) S2 +3.33S
o, =10 ¢ =0.1665
M, =@ "¢ x100% = 59% {,=—F7—=032
b =0 X 0 0 p wﬂﬁ
1 1-3-16
a b
1 M | BI OUTL -Al H1
2 Al OUT _A3 H1l
3 A3 OUT _A6 H1
4 A6 OUT _Al H2
5 A6 OUT _Al0 H1
2 6 Al0 OUT B2 CH2
Al S4 S8 _
A3 S3 S11 S12
A6 S3 S8 S10
Mp= 57.2% tp= 0.332S ts=1.85( =5 )
2
Mp<25%
Mp<25% & >04
1-3-16 Ti = 0.2S @, =10
& =0.1665 3-3-22 Kf=0.0467
C3=1u Kf =0.0467 3-3-25

R3=46.7K R3=50K 1-3-17



B R 200K R2 300K
Ui=2 5V

| # E R
1-3-17
1 1-3-17
a b
1 r(t) Bl OUT1 -Al H1
1 Al S4 S8 2 Al OUT A3 H1
2 A3 S3 S11 S12 3 A3 OUT A6 H1
3 A6 S3 S8 S10 4 A6 OUT A1 H2
4 AT S1 S10 SP 5 A6 OUT -SA10 H1
6 A6 OUT - A7 H1
7 A7 OUT A5 H2
8 Al10 OUT -B2 CH2
2
1
1-3-40
Mp= 231 % tp= 0.36S
1.3.6
1
1-3-18
PR R Fl 200K B0E
Ui=2.5V .
El 0UT1HI 200K ap
o {2
CHI
OUTCH?
£ 2
1-3-18
1 1-3-18

(1] BL OUTL -Al HI




a 2 Al OUT A2 H1
b 3 A2 OUT _A3 H1
4 A3 OUT A7 H1
1 | Al S4 S8 5 A3 OUT _Al H2
2 A2 S5 S11 S12 6 A7 OUT B2 CH2
3 A3 S2 S7 Sl
4 A7 S2 S9 SP
2
2
1-3-18 Mp<20%
tp<0.5 1-3-19
K1=-10.8=R1/R2 R1=200K  R2=9.3K K2=15.8=R1/R3 R1=100K R3=6.3K
B R E1 200K 50K
B1 OUT1 L1
Ui=2.5V Hi 200K
', 5P
CHO
OUTCH?
1-3-19
1 1-3-19
a b
1 Bl OUT1 -Al H1
1 Al sS4 S8 2 Al OUT A2 H1
2 A2 S5 S11 S12 3 A2 OUT A3 Hi
3 A3 S2 S7 Si11 4 A3 OUT A7 Hi
4 | A7 S2 S11 SP 5
6 R2=
2
1
1-3-49
Mp 20% tp=0.36S
1.4

14.1




1
1
a b
1 Bl Y -A3 H1
2 A3 OUT -SA10 H1
3/4 A3 H1 -B2 CH3 CH1
5/6 <1 Al10 OUT -B2 CH4 CH2
1| A3 S1 S13
2
Bl
-5V~+5V
2
1-4-2
wy ol [ s o,
Bl ¥ M=3.TV CH?
HH {7 B 1 WA Wit o
5V
1-4-2
1 1-4-2
1/2 Bl Y -B2 CH3 CH1
3/4 Bl OUT2 -B2 CH4 CH2
2 X-Y
Bl
-5V~+5V
1.4.1.2




1-4-3

1 1-4-3
a b
1 Bl Y —-A3 H1
2 A3 OUT -5A10 H1
3 A3 H1 -B2 CH3
4l = A10 OUT -B2 CH4
1| A3 S2 S8 S13
2
Bl
-5V~+5V
X-Y
2
1-4-4
45 Eﬁé ¥ 51 CLIT—?4
Bl ¥ M=3.7VE=2 CH2
C2RE TS it Wi A Wi El OUT?
-5
1-4-4
1 1-4-4
1/2 Bl Y -B2 CH3 CH1
3/4 B1 OUT2 -B2 CH4 CH2
2
Bl
-5V~+5V
XY
1.4.1.3
1-4-5
+5Y EIE% MERE CLII—?4
Bl ¥ K=l a=2.4V CHP
B BF i LIPS UL vy e
i
1-4-5
1 1-4-5
1/2 Bl Y -B2 CH3 CH1
3/4 Bl OUT2 -B2 CH4 CH2




14.1.4
1-4-6
57 Ch
El ki
{7 3% Hi
sy Ui
1-4-6

1 1-4-6

Bl

X-Y

(] et 45 1
E=1 a=2.4v¥
TN T

o
CH4
CH?

Bl OOT2

-5V~+5V



13]A3  [s2 su s
1 Bl OUT1 _A8 Hi
2 A8 OUT _Al H1
3 Al OUT)-B2 CH3 X
4 Bl OUT2 A2 H1
5 A2 OUT _A3 H1
6 A3 OUT _Al H2
2 7 A3 OUT - B2 CH2
- 8 A2 OUT)-B2 CH4 Y
X-Y
1422
1-4-8
S00E.
— IR
J _':_U-l. '_“.d. TiE — SO ""—i__‘—l-—',' J_EDKJ
¢ = s 1 HI J our Hl
200K ¥ OuUT2 ¥
1-4-8
1 1-4-8
a b
1 Bl OUTI _A8 H1
Al sS4 S8 2 A8 OUT oAl H1
A2 S5 S10 S11 3 Al OUT)-B2 CH3 X
A3 S2 S11 SI12 4 Bl OUT2 A2 H1
5 A2 OUT _A3 H1i
6 A3 OUT oAl H2
7 A3 OUT - B2 CH2
8 A2 OUT)-B2 CH4 Y
2

X-Y

MP (%) tr
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BT LI R
U254 S5 [ mm
El OUT1 ,

E= a=0.6YV
CHl Hi Fi A Wi

Al S4 S8

A2 S5 S10 Si1

A3 S2 S10 Si1

1 Bl OUTL -Al H1
2 Al OUT)-B2 CH3 X
3 Bl OUT2 -A2 H1
4 A2 OUT _A3 H1
2 5 A3 OUT _Al10 H1
- 6 A3 OUT oAl H2
7 A3 OUT - B2 CH2
S 8 A2 OUT) B2 CH4 Y
X-Y
1.4.3
G(S)= oz
TiS(T1S +1)(T 2S +1)
1
CH1
CH2 CH3 CH4 CH3 X CH4 Y
2 CH3 =
CH4
X-Y
Wa
T A
3 X-Y
e-e
4



e-e

1431

1 1-4-10
a b
1 Bl OUT1 -A8 H1
Al S4 S8 2 A8 OUT oAl H1
2 | A2 S5 S10 S11 3 Al1(OUT) - B2(CH3 X
S12 4 Bl OUT2 -_A9 H1
3 | A3 S5 S11 S12 5 A9 OUT A2 H1
4 | A6 S9 S10 6 All
7 | 500K A2 OUT A6 IN
8 A6 OUT -A3 H1
9 A3 OUT _Al H2
10 A3 OUT - B2 CH2
11 A6(0OUT) - B2(CH4 Y

X-Y

1.43.2

Bir LR Rit)

Ui=2 57

Bl OUTl 20K
L1

el t)

CH3 | aF0 %1
T | M=3.6VE=2
WA i

1 1-4-11



b

1 Bl OUT1 -A8 H1
T A1 s <8 2 A8 OUT _Al Hi
2 | A2 S5 S10 S11 S121° AL(OUT) - B2(CH3 X
3 | A3 S5 S11 S12 4 BL OUT2 -A9 HI
2 | A6 s9 S0 5 A9 OUT _A2 Hi
6 All
7 | 330K 500K A2 OUT A6 IN
8 A6 OUT _A3 H1
9 A3 OUT oAl H2
10 A3 OUT - B2 CH2
’ 11 A6(OUT) - B2(CH4 Y
R3=500K G jw
MP(%)
k=2 K2 R3
All 330K K=1.51 G jw
1-4-35
R3 500K K=3 k jw




